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EER{E 3,782,192
RETEB 3,782,192
Ehskat 632, 600
Ehskat 632, 600
HEtEHE 128, 900
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2 g - wmE 3.00 108, 600 325, 800
)
BE 171, 900
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8 MEBEROEHE 4% = (ESE, SE, SSE, S) 4.00 17, 040 68, 160
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=
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AR 120, 000
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B R 3,630,920 + 151,272 3,782,192
EEAGE 3,630, 920
EERE 151,272
T DR 3,630,920 x 53.85% ( 35% + (1 — 35%) ) 1, 955, 250
BRI 3,782,192 + 1,955,250 5,737, 442
—REEES 5,737,442 x 53.85% (35% = (1 — 35%) ) — 7,054 3,082, 558
KBS 5,737,442 + 3,082,558 8, 820, 000
HEREELE 8,820,000 x 10.00% 882, 000
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A 1.00 57, 400. 00 57, 400
®EF (A)
A 1.00 51, 200. 00 51, 200
HEm (B)
A 0.50 40, 600. 00 20, 300
= it YEZERED 1. 00K 128, 900. 00 128, 900
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A 1.00 57, 400. 00 57, 400
H®EF (A)
A 1.00 51, 200. 00 51, 200
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A 1.50 57, 400. 00 86, 100
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®EF (A)
A 0.10 51, 200. 00 5,120
H®EF (C)
A 0.10 32, 800. 00 3,280
= it 1E¥8EH  1.00—X 8, 400. 00 8, 400
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A 0.10 57, 400. 00 5,740
H®EF (A)
A 0.10 51, 200. 00 5,120
H®EF (C)
A 0.10 32, 800. 00 3,280
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HEm (B)
A 0.50 40, 600. 00 20, 300
H®EF (C)
A 0.50 32, 800. 00 16, 400
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A 0.50 29, 000. 00 14, 500
= H 1E¥8EH - 1.00—X 51, 200. 00 51, 200
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A 0.65 57, 400. 00 37,310
®EF (A)
A 1.25 51, 200. 00 64, 000
HEm (B)
A 3.15 40, 600. 00 127, 890
H®EF (C)
A 3.15 32, 800. 00 103, 320
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A 1.90 29, 000. 00 55,100
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H®EF (A)
A 1.00 51, 200. 00 51, 200
HEm (B)
A 3.50 40, 600. 00 142,100
H®EF (C)
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A 1.00 29, 000. 00 29, 000
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A 2.10 40, 600. 00 85, 260
H®EF (C)
A 7.00 32, 800. 00 229, 600
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